
SB-T-TACEXT/10W3, JL AUDIO, Inc 2001 • Page 1 Sheet SKU# 011148 Revised 5/15/01

Installation Guide:
This Stealthbox is a product which requires professional installation skills and tools.  Please read this
installation guide thoroughly before beginning the project.  It will guide you step by step through the
installation.  Several of the steps in this process may require two people to accomplish.

It is absolutely vital that the enclosure be properly mounted to the vehicle according to these instruc-
tions.  Failure to mount the enclosure properly presents two problems:  1) The sub-bass performance
will suffer due to the movement of the enclosure caused by the force exerted by the woofer and 2) A
loose enclosure presents a serious safety hazard in the event of a collision or sudden deceleration.

STEP 1:  Remove the back pad and trim located above rear
seat.

STEP 2:  Remove the lower rear trim panel.

STEP 3:  Insert supplied speed clips onto the bracket located
on the lower area of the rear wall of the truck.  The two clips
go over the inner two holes on this bracket.

SB-T-TACEXT/10W3 STEALTHBOX™
Fits 1996-2000 Toyota Tacoma

Extended Cab Trucks



SB-T-TACEXT/10W3, JL AUDIO, Inc 2001 • Page 2 Sheet SKU# 011148 Revised 5/15/01

STEP 4:  Install supplied spacer onto the plastic trim clip holder on
the rear of the trim panel.  This will prevent cracking the panel
when it is reinstalled.

STEP 5:  Reinstall the lower rear trim panel.  Install the supplied
bracket onto the Stealthbox.  Place the Stealthbox in the vehicle
and drill the two holes through the plastic panel using the holes in
the bracket as guides.  The holes should align with the holes in the
spacers installed in Step 4.

STEP 6:  Remove Stealthbox.

STEP 7: Locate factory bolt by feeling for horseshoe shaped indent
under carpet. Bolt is located in between the center of both rear
seats approximately 6" away from rear wall.

STEP 8:  Cut carpet around factory bolt (Approximately one inch
diameter) so that the bolt could be easily removed.



SB-T-TACEXT/10W3, JL AUDIO, Inc 2001 • Page 3 Sheet SKU# 011148 Revised 5/15/01

STEP 9:  Remove factory bolt using a 10mm socket. Discard
factory bolt.

STEP 10:  Drill through factory threaed hole using 1/2" drill bit.



SB-T-TACEXT/10W3, JL AUDIO, Inc 2001 • Page 4 Sheet SKU# 011148 Revised 5/15/01

Specifications:

• Driver:   10W3-D2
• Enclosure type:   Sealed
• Power handling:  250 Watts Continuous
• Final Impedance: 4Ω

10369 N. Commerce Pkwy, Miramar, Florida  33025-3921  Voice: (954) 443-1100  Fax: (954) 443-1111

STEP 12:  Reinstall back pad and trim.

This completes the installation.

STEP 11:  Run speaker wire. Place Stealthbox into vehicle and test
before securing. Secure Stealthbox at all three locations (bottom
bolt and both rear sides).

3/8" Bolt

Split Lock Washer

Flat Washer Car's Sheet Metal

Enclosure Wall (fiberglass)
Threaded Insert
Molded into
Enclosure

Bead of Silicone Sealant

Hardware List:

• 8  1/4" flat washers
• 2  1/4" lock washers
• 1  3/8" flat washer
• 1  3/8" lock washer
• 2  1/4" bolts
• 1  3/8" bolt
• 2  speed clips


